
Ethos User Activated Anti-Tip 

Item Number Part Number Description Quantity Retail
3a, 4, 5a, 6, 7,
9, 11, 15-17 004350 Anti-Tip Assembly Straight, User Activated 1 $160.00

3b, 4, 5b, 6, 7,
9, 11, 15-17 004351 Anti-Tip Assembly Bent, User Activated 1 $160.00

1, 2, 3a, 4, 5a,
6-17 108098 User Activated Anti-Tip Assembly Straight, Single 1 $195.04

1, 2, 3a, 4, 5a,
6-17 108099 User Activated Anti-Tip Assembly Straight, PAIR 1 $390.08

1, 2, 3b, 4, 5b,
6-17 108100 User Activated Anti-Tip Assembly Bent, Single 1 $195.04

1, 2, 3b, 4, 5b,
6-17 108101 User Activated Anti-Tip Assembly Bent, PAIR 1 $390.08

1, 2, 10, 12 004691 Anti-Tip Lower Assembly 1 $30.49

8 004306 Anti-Tip Anti Rattle Bushing 1 $4.55

11 100534 Detent Button Lower 1 $3.52



Item Number Part Number Description Quantity Retail

13 101721 M6 x 16 Btn SHCS w/ Patch 2 $2.06

14 101835 M6 Lock Washer Blk Zn 2 $0.52

15 103323 M5 x 10 Flange BHCS Blk Zc 2 $0.56

16 103324 M5 x 6 BHCS Blk Zc 2 $0.56


